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V V V mA

G 2 S 12
1
! STCS 6 180 160 10 4- 80

GR 150/M DGL 1 165 140 o •I- o

LS 5 B eur 2 180 135 8 10 4- 60
STV 150/60 i Tlf 3) 165 140 -  160 10 10 -  60STV 150/60 E Tlf 4|
S 130

I
eur 4 160 120 5 6 4- 75

TE 45 Osr
i

1 140 120 45 max

O A  2 int 5 l 180 145 4- 160 2 4- 5,5 5 4- 30
OD 3 ; int 6) 180 145 4- 160 5,5 4- 8 5 4- 40

O A  2 -W A 1) int 5 165 142 4- 158 5 5 4- 30

150 C 1 eur 71
205 144 4- 164 8 5 -4 0150 C 1-K ; Phi 6)

150 C 3 Mul 6 160 150 5 4- 40
6542 Ray 8 185 150 5 4- 25

») vide *4

E q u i v a l e n t s

A G  5211 AEG = OA 2 ! VR 150 int OD 3
C K  60731) Ray - OA 2-WA | VR 150-30 int _ OD 3
G 2 S 5 STCS = OD 3 V R  150 M T eur = OA 2
KD 25 Fer = OD 3 VR 150 ST eur OD 3
M  81331) Mul = OA 2 VS 110 RAF — S 130
M  82231) Mul = OA 2-WA WT 294 amer OD 3
QS 150/40 EEV = OD 3 OD 3/VR 150 amer OD 3
Q S  1207 EEV = OA 2 11 T A  31 Tes - OA 2
Q S  12101) EEV - OA 2-WA 150 C 1-P Phi = 150 C 1
c r  i  n CCCP = OA 2 150 C 2 Mul = OA 2
c r  4 c CCCP = OD 3 150 C  4 Mul = OA 2
S M  150-30 SFR = OA 2 150 C 5-30 CCCP - OD 3
S T 150/30 Tes OA 2 60731) Ray = OA 2-WA
S tR  150/30 RFT - OA 2 6626 amer = OA 2
S T V  150/30 eur = OA 2
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